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Question Numbers : (1 to 5)
Question Label : Comprehension

HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lisutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
government responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central povernment, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected government. Hobbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
povernment, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and Dhstriet Cricket Association, again because of the absence of the L(3's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BSES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without eommunicating the decision of the
LG for his Views. The only consolation for the elected government was the court saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that beyond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issuez of the wvarious
notifications published by Delhi government in exercise of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled “services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634801. 1
92090634802. 2
92090634803. 3
92090634804. 4

Question Number : 2 Question Id : 9209068809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634805. 1
92090634806. 2
92090634807. 3
92090634808. 4

Question Number : 3 Question Id : 9209068810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634809. 1
92090634810. 2
92090634811. 3
92090634812. 4

Question Number : 4 Question Id : 9209068811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634813. 1
92090634814. 2

92090634815. 3
92090634816. 4

Question Number : 5 Question Id : 9209068812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634817. 1
92090634818. 2
92090634819. 3
92090634820. 4

Question Id : 9209068807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634801. 1
92090634802. 2
92090634803. 3
92090634804. 4

Question Number : 2 Question Id : 9209068809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634805. 1
92090634806. 2
92090634807. 3
92090634808. 4

Question Number : 3 Question Id : 9209068810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634809. 1
92090634810. 2
92090634811. 3
92090634812. 4

Question Number : 4 Question Id : 9209068811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634813. 1
92090634814. 2

92090634815. 3
92090634816. 4

Question Number : 5 Question Id : 9209068812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634817. 1
92090634818. 2
92090634819. 3
92090634820. 4

Question Id : 9209068807 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209068808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090634801. 1
92090634802. 2
92090634803. 3
92090634804. 4

Question Number : 2 Question Id : 9209068809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090634805. 1
92090634806. 2
92090634807. 3
92090634808. 4

Question Number : 3 Question Id : 9209068810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090634809. 1
92090634810. 2
92090634811. 3
92090634812. 4

Question Number : 4 Question Id : 9209068811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090634813. 1
92090634814. 2

92090634815. 3
92090634816. 4

Question Number : 5 Question Id : 9209068812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090634817. 1
92090634818. 2
92090634819. 3
92090634820. 4

Sub-Section Number : 2
Sub-Section Id : 920906284
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E).(O), (B). (D). (A)
2)  (E)(B), (D). (C). (A)
(3) (B (C), (D). (E). (A)
(4)  (B). (D). (C). (A). (E)

Options :

92090634821. 1
92090634822. 2
92090634823. 3
92090634824. 4

Question Number : 6 Question Id : 9209068813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:

(A)

(B)

(C)
(D)

(E)

A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

To show this fire and brilliance it must be cut & faceted with pinpoint aceuracy.

Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1)
(2)
(:3)
(4)

(E). (C), (B). (D), (A)
(E). (B). (D), (C), (A)
(B). (C). (D), (E), (&)
(B). (D), (C), (&), (E)

Options :

92090634821. 1
92090634822. 2
92090634823. 3
92090634824. 4

Question Number : 6 Question Id : 9209068813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E). (O), (B), (D), (A)
2) (B, B), (D), O, (4)
(3)  (B). (C), (D), (E), (A4)
(4)  (B), (D). (C), (&), (E)

Options :

92090634821. 1
92090634822. 2
92090634823. 3
92090634824. 4

Question Number : 7 Question Id : 9209068814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism {(2) Impartiality
(3) Partiality (4) Rough
Options :

92090634825. 1
92090634826. 2
92090634827. 3
92090634828. 4

Question Number : 7 Question Id : 9209068814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090634825. 1
92090634826. 2
92090634827. 3
92090634828. 4

Question Number : 7 Question Id : 9209068814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090634825. 1
92090634826. 2
92090634827. 3
92090634828. 4

Question Number : 8 Question Id : 9209068815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3) Prescient {(4) Primadonna
Options :

92090634829. 1
92090634830. 2
92090634831. 3
92090634832. 4

Question Number : 8 Question Id : 9209068815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Pothoiler (2) Pork
(3) Prescient {4y Primadonna
Options :

92090634829. 1
92090634830. 2
92090634831. 3
92090634832. 4

Question Number : 8 Question Id : 9209068815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3 Prescient (4) Primadonna
Options :

92090634829. 1
92090634830. 2
92090634831. 3
92090634832. 4

Question Number : 9 Question Id : 9209068816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(

1 There is nothing that is more engaging than
(2

)

) I do nothing more engaging other than
(3) I know of nothing more engaging than

)

(4 There is nothing engaging for me other than

Options :

92090634833. 1
92090634834. 2
92090634835. 3
92090634836. 4

Question Number : 9 Question Id : 9209068816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

{(4) There is nothing engaging for me other than
Options :

92090634833. 1
92090634834. 2
92090634835. 3
92090634836. 4

Question Number : 9 Question Id : 9209068816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

(4) There is nothing engaging for me other than
Options :

92090634833. 1
92090634834. 2
92090634835. 3
92090634836. 4

Question Number : 10 Question Id : 9209068817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090634837. 1
92090634838. 2
92090634839. 3
92090634840. 4

Question Number : 10 Question Id : 9209068817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE

Options :



92090634837. 1
92090634838. 2
92090634839. 3
92090634840. 4

Question Number : 10 Question Id : 9209068817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090634837. 1
92090634838. 2
92090634839. 3
92090634840. 4

Question Number : 11 Question Id : 9209068818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2) a0
(3) 60 (4) 94

Options :

92090634841. 1
92090634842. 2
92090634843. 3
92090634844. 4

Question Number : 11 Question Id : 9209068818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The surface area (in em?) of a cuboid with dimensions 3em, 4em and Sem is

(1) 47 (2) a0
(3) 60 (4) 94

Options :

92090634841. 1
92090634842. 2
92090634843. 3
92090634844. 4

Question Number : 11 Question Id : 9209068818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in cm?) of a cuboid with dimensions 3cm, 4em and Sem is

(1) 47 (2) B0
(3) B0 4y 94

Options :

92090634841. 1
92090634842. 2
92090634843. 3
92090634844. 4

Question Number : 12 Question Id : 9209068819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan20 + cos20 1s

(M =B (2)

[
—

& 5

(3) (4)

|

5
23
Options :
92090634845. 1
92090634846. 2
92090634847. 3
92090634848. 4

Question Number : 12 Question Id : 9209068819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 2 sin 28 = 1, then the value of tan20 + cos20 1s

a1y =3 (2)

|

23

1.3

(3) .3 (4) 28
23 5

Options :

92090634845. 1
92090634846. 2
92090634847. 3
92090634848. 4

Question Number : 12 Question Id : 9209068819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan28 + cos20 1s

(M =B (2)

|

2.3

2.3

o (4) m{
23 5

Options :

92090634845. 1
92090634846. 2
92090634847. 3
92090634848. 4

Question Number : 13 Question Id : 9209068820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is
(1) 250 kg (2) 300 ke
(3 500 kg (4) 750 kg
Options :
92090634849. 1
92090634850. 2
92090634851. 3
92090634852. 4



Question Number : 13 Question Id : 9209068820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity =old at 18% profit i=

(1) 250 kg (2) 300 kg
(3) 500 kg (4) 750 kg
Options :

92090634849. 1
92090634850. 2
92090634851. 3
92090634852. 4

Question Number : 13 Question Id : 9209068820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is

(1) 250kg (2) 300kg
(3 500 kg (4) 750 kg
Options :

92090634849. 1
92090634850. 2
92090634851. 3
92090634852. 4

Question Number : 14 Question Id : 9209068821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634853. 1
92090634854. 2
92090634855. 3
92090634856. 4



Question Number : 14 Question Id : 9209068821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 years with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634853. 1
92090634854. 2
92090634855. 3
92090634856. 4

Question Number : 14 Question Id : 9209068821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 years and to Rs 568 in 7 vears with the same rate
of simple interest?

(1) Rs 400 (2) Rs 420
(3) Rs 410 (4) Rs 320

Options :

92090634853. 1
92090634854. 2
92090634855. 3
92090634856. 4

Question Number : 15 Question Id : 9209068822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 z 7

@ 6 (4) 8

Options :
92090634857. 1



92090634858. 2
92090634859. 3
92090634860. 4

Question Number : 15 Question Id : 9209068822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 2y 7

(3) 6 (4) 3

Options :

92090634857. 1
92090634858. 2
92090634859. 3
92090634860. 4

Question Number : 15 Question Id : 9209068822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A and B can do work in 12 days and 24 days respectively. They started working together but

left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

1y 5 2 7
(3) 6 4 3
Options :

92090634857. 1
92090634858. 2
92090634859. 3
92090634860. 4

Question Number : 16 Question Id : 9209068823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If [ am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth (4) South
Options :

92090634861. 1
92090634862. 2
92090634863. 3
92090634864. 4

Question Number : 16 Question Id : 9209068823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth {(4) South
Options :

92090634861. 1
92090634862. 2
92090634863. 3
92090634864. 4

Question Number : 16 Question Id : 9209068823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3 North (4) South
Options :

92090634861. 1
92090634862. 2
92090634863. 3
92090634864. 4



Question Number : 17 Question Id : 9209068824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090634865. 1
92090634866. 2
92090634867. 3
92090634868. 4

Question Number : 17 Question Id : 9209068824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090634865. 1
92090634866. 2
92090634867. 3
92090634868. 4

Question Number : 17 Question Id : 9209068824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP

Options :



92090634865. 1
92090634866. 2
92090634867. 3
92090634868. 4

Question Number : 18 Question Id : 9209068825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12: 18, 2772

(1) 31 1/2 (2) 4012
(3) 31 (4) 40
Options :

92090634869. 1
92090634870. 2
92090634871. 3
92090634872. 4

Question Number : 18 Question Id : 9209068825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3. 8,
12; 18,2772

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090634869. 1
92090634870. 2
92090634871. 3
92090634872. 4

Question Number : 18 Question Id : 9209068825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12. 18, 277

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090634869. 1
92090634870. 2
92090634871. 3
92090634872. 4

Question Number : 19 Question Id : 9209068826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Unele (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090634873. 1
92090634874. 2
92090634875. 3
92090634876. 4

Question Number : 19 Question Id : 9209068826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090634873. 1
92090634874. 2
92090634875. 3
92090634876. 4

Question Number : 19 Question Id : 9209068826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother

(3) Brother-in-law {(4) Cousin

Options :

92090634873. 1
92090634874. 2
92090634875. 3
92090634876. 4

Question Number : 20 Question Id : 9209068827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) :  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3) {A) 15 true but (R) is false

(4) (A) 1s falze but (R) is true

Options :

92090634877. 1
92090634878. 2
92090634879. 3
92090634880. 4



Question Number : 20 Question Id : 9209068827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Asgertion (A):  The common value of all religion should be taught to the children in our

schools.

Reasons (B) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 1s false

(4) {A) 1s falze but (R) is true

Options :

92090634877. 1
92090634878. 2
92090634879. 3
92090634880. 4

Question Number : 20 Question Id : 9209068827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The common value of all religion should be taught to the children in our

schools,

Reasons (R) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below ;

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 15 true but (R) 1s false

{4) {A) 15 false but (R) 1s true

Options :

92090634877. 1
92090634878. 2
92090634879. 3
92090634880. 4

Question Number : 21 Question Id : 9209068828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 1T :

List I List 1T
(Institute) (Location)
(A} National Institute of Ayurveda (' Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{() MNational Institute of Unani Medicine (III}) Kolkata
{D) National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A0, (B)-(ID), (O)-(I1D), (D)-(IV)
(2 (A, (B)-(ID), (C)-(ID), (D)-(IV)
(3 (L-IV), (B)-(11D), (C)-(11), (D)-(T)
@ (A-V), (B)-(ID), (C)-(III), (D)-(T)

Options :



92090634881. 1
92090634882. 2
92090634883. 3
92090634884. 4

Question Number : 21 Question Id : 9209068828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last I1 :

List 1 List I1
(Institute) (Location)
(A) National Institute of Ayurveda Il Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{C) MNational Institute of Unani Medicine (11T} Kolkata
(D) MNational Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1I), (C)-(11I), (D)-(IV})
(2) (A)-(T), (B)-(II), (C)-(1T), (D)-(IV})
(3) {A)-(TV), (B)-(11D), (C)-(IT), (D)-(T)
(4} {A)-(IV), (B)-(IT), (C)-(I1T), (D)-(T)

Options :

92090634881. 1
92090634882. 2
92090634883. 3
92090634884. 4

Question Number : 21 Question Id : 9209068828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last T with Last 1T -

List [ List 1T
(Institute) (Location)
(A) National Institute of Ayurveda {I. 'Chennai

(B} National Institute of Homoeopathy (Il) Bengaluru
{C) National Institute of Unani Medicine (III) Kolkata
(I National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(IT), (C)-(LLI), (D)-(IV)
(2) (A)-(1), (B)-(I1L), (C)-(1I), (D)-(IV)
(3) (A)-(IV), (B)-(LLT), (C)-(IT), (D)-(1)
1) (A)-(IV), (B)-(II), (C)~(I1T), (D)-(D)

Options :

92090634881. 1
92090634882. 2
92090634883. 3
92090634884. 4

Question Number : 22 Question Id : 9209068829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement I are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement [ is false

{4) Statement I is false but Statement I 15 true

Options :

92090634885. 1
92090634886. 2
92090634887. 3



92090634888. 4

Question Number : 22 Question Id : 9209068829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.

Statement 11 :  Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement I is false

(4) Statement [ is false but Statement I1 1s true

Options :

92090634885. 1
92090634886. 2
92090634887. 3
92090634888. 4

Question Number : 22 Question Id : 9209068829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

Institutions.

Statement 11 : Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I is false

{4) Statement 1 is false but Statement 11 15 true

Options :

92090634885. 1
92090634886. 2
92090634887. 3
92090634888. 4

Question Number : 23 Question Id : 9209068830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1+ June, 1918 (2) 13* April, 1919
(3) 14t April, 1920 (4) 6% July, 1921

Options :

92090634889. 1
92090634890. 2
92090634891. 3
92090634892. 4

Question Number : 23 Question Id : 9209068830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1#t June, 1918 (2) 13 April, 1919
(3) 14tk April, 1920 (4) 6% July, 1921
Options :

92090634889. 1
92090634890. 2
92090634891. 3
92090634892. 4

Question Number : 23 Question Id : 9209068830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1 June, 1918 (2) 13® April, 1919
(3) 14t April, 1920 (4) 6% July, 1921
Options :

92090634889. 1
92090634890. 2
92090634891. 3
92090634892. 4

Question Number : 24 Question Id : 9209068831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) {A), (C) and (D) only

Options :



92090634893. 1
92090634894. 2
92090634895. 3
92090634896. 4

Question Number : 24 Question Id : 9209068831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
(C) Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given helow :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) (A), (C) and (D) only

Options :

92090634893. 1
92090634894. 2
92090634895. 3
92090634896. 4

Question Number : 24 Question Id : 9209068831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) {A), (C) and (D) only

Options :

92090634893. 1
92090634894. 2
92090634895. 3
92090634896. 4

Question Number : 25 Question Id : 9209068832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634897. 1
92090634898. 2
92090634899. 3
92090634900. 4

Question Number : 25 Question Id : 9209068832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634897. 1



92090634898. 2
92090634899. 3
92090634900. 4

Question Number : 25 Question Id : 9209068832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3) Surface tension (4) Viscosity
Options :

92090634897. 1
92090634898. 2
92090634899. 3
92090634900. 4

Part B: Santali

Section Id : 920906176
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906285
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209068833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%2l e w9 am e oel 1 %) e
bbhdA ERERA DEER PEELESAE 0AENG UBOE B2 bd BEEE-B?

(1) fm o=t uan umom
(2) 9 = oz umwr
(2} HTE WET usaz umos

(4) Tmm Ol ame umosy

Options :

92090634901. 1
92090634902. 2
92090634903. 3
92090634904. 4

Question Number : 26 Question Id : 9209068833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE e wee wae e 9l 1 %) s
DA ERERE DEER PEZELSAE ARG UBOE 22 bD OBEEE-0?

(1) fma o=l wn uson
(2} 9 ol oz ums

(3) #rE TEl usaz upwar
(4) v Ol zaae unwer
Options :
92090634901. 1
92090634902. 2

92090634903. 3
92090634904. 4

Question Number : 26 Question Id : 9209068833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%zl e w9m Fam fem ol 1 %) s
D3R AR DDED PEZEDSIE DAEDRE (80D 22 bd LDaEE-57

(1) . ol wn eaon
(2} 9 oef oz usomy
(3) @2 el usaz Do

(4) v Ol zame umwer

Options :



92090634901. 1
92090634902. 2
92090634903. 3
92090634904. 4

Question Number : 27 Question Id : 9209068834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 ffym Ao 1 A A wE W SEEa?
NaELA AP (RlRD 22 0AEDE OB220 bE3Dh bd EZERE-IY

(1) i =9 w2 nee
(2} T oeem
(3} ©r2 TS usaz ezhzh

(4} TETS TS ze@ae EI0NZL

Options :

92090634905. 1
92090634906. 2
92090634907. 3
92090634908. 4

Question Number : 27 Question Id : 9209068834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

zew fefym Fwen 1 fAmE arm wE w e
EhA SARAPD OEIPH 22 0AERGE TBD20 bE3H b EZEEE-07

(1) i =9 e nee
(2} T oeea
(2) HIE T usEE @2neh

(4} TETS TS ze@ae BINZW

Options :

92090634905. 1
92090634906. 2
92090634907. 3
92090634908. 4

Question Number : 27 Question Id : 9209068834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

zew! ffem awen 1 fem arm wE W EEEa?
NaEHA FA0AP (alDd 22 0AERE CB220 bE3h bd KZERE-IY

(1} M = we nze
2) T ozes
(3) WrE T usae esheb

(4} TETS TS ze@ae BINZW

Options :

92090634905. 1
92090634906. 2
92090634907. 3
92090634908. 4

Question Number : 28 Question Id : 9209068835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fo AR-WpE WP A TR e fEm w) A s
02 LARE EIR-EDEHE PREAT 02 029 PEOLEE AU bd OPD hESH?

(1) 9@ Ve AN T w=Th M99 0oeed 0BED 5D UASHZE LZIBE EAU
(2) T A @ T B 99 onoed D006 oD UAeNZE W2RE KAU
(3) 3w a0 @n fOEd tEm Y ooeaed ohHORD 0% UASNZE WZIDE EAU

(4) @ = am feAe gEE AW ooeen wzeez s urenze w2aBe LAU

Options :

92090634909. 1
92090634910. 2
92090634911. 3
92090634912. 4

Question Number : 28 Question Id : 9209068835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A fo AR-WpE WP A TR e fEm w) A s
02 LARE EIR-EDEHE PREAT 02 029 PEOLEE AU bd OPD hESH?

(1) 9@ Ve AN T w=Th M99 0oeed 0BED 5D UASHZE LZIBE EAU
(2) T @AnE AR e B 09 ouoen HDoe 2D GRENZE W2eE KA
(3) 3w a0 @n fOEd tEm Y ooeaed ohHORD 0% UASNZE WZIDE EAU

@) amm ' o foaes v== fom ozeen uzeesz oe uAshzE W2Z3BE KA

Options :

92090634909. 1
92090634910. 2
92090634911. 3
92090634912. 4

Question Number : 28 Question Id : 9209068835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o o 9R-ErE W A W A fem oW oA wpen?
0D LARD. EfR-EDEHE PRERT 02 029 PEDLHE EAU b DD hIgn?

(1) =/ W72 &AW T FET M99 ozeed 0DED BB UASHEZE WEIDE kAU
(2} amm amrE o e £ fOn oooed maope o dRenze W2 EAd
(2) T FwET 90 S TEW U oooed bhons 5D UASNZE W2ZInE LA

[4) A T2 AR oA EEE THR 0naem G2Ee2 B UASNZE L23BE KA

Options :

92090634909. 1
92090634910. 2
92090634911. 3
92090634912. 4

Question Number : 29 Question Id : 9209068836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



obibEl ERELE 20 BodE QDOLUDZE (DEFEINEE?

(1) fom =M TI9 7 ¥20 ORGEE QbObil 02
(2) 7TTE TF AR A uneoE obhb ov0bl 02
(3) T# ¥ T[IW T 0v3ow L2 GH0DU 02

(4) TR s foE STETR AT A 0osenen 5D KAUD. DOZRIE Gb0bd 02

Options :

92090634913. 1
92090634914. 2
92090634915. 3
92090634916. 4

Question Number : 29 Question Id : 9209068836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bbbl EBDLE S0 BodE ODOLIDZE DEEEINERT

(1) To= == 399 7 eaa 026ED qu0bl 02
(2) TTTE 4F IIH A uBRBE DHIL Gb0bU 02
(3) TFE W IAH T 00200 bD Av0LU 02

[4) WA AW oW ATETR IEH 9 DIREDED BD KAUN BOZHZE ab0b 02

Options :

92090634913. 1
92090634914. 2
92090634915. 3
92090634916. 4

Question Number : 29 Question Id : 9209068836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=3

bhIEL EBGLEZ 22 S0DE Gb0LUDZE EEEHENT
(1) fom =M TI9 7 ¥20 ORGEE QbObil 02
(2) 7TTE TF AR A uneoE obhb ov0bl 02
(3) T# ¥ T[IW T 0v3ow L2 GH0DU 02

(4) TR s foE STETR AT A 0osenen 5D KAUD. DOZRIE Gb0bd 02

Options :

92090634913. 1
92090634914. 2
92090634915. 3
92090634916. 4

Question Number : 30 Question Id : 9209068837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘GrETE A HEATE T e W oqwmies 9 dmE s
'‘DEZDEED PEED EREDEP L2RER 0H0EA DEE 00EUB.PAD 22 BbhEE hAEmaET

(1) O 590 poed w2URBU
(2) T o pacersEn Usb
(3) vrEA T 0eRETR0 s
(4) T WIS evevd LER2E

Options :

92090634917. 1
92090634918. 2
92090634919. 3
92090634920. 4

Question Number : 30 Question Id : 9209068837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘GrarE A mEAE T et W oqwwte 9 A s
'‘DEZRTED DEED LREDEP K2REn 0H0EA RZE 00EUBPAL 2 Bbhed baEDmET

(1) #= 598 Do U2UDRE
(2) T T sadzeeEm usade
(3) 9rEE §H oenewp0 usaUb
(4) 77 WIS Ebevd LEDZE
Options :
92090634917. 1
92090634918. 2

92090634919. 3
92090634920. 4

Question Number : 30 Question Id : 9209068837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

b e el e I TR S e e R e g e
'DEZVTBO VDLD LHEOHP LZDTH TH0SA DZE 0LEUBPAD € DA LIEDE?
(1) = 50 poed V2UDDBU

(2) TvE T EMIZREED USR

(3) 9rEE T 0eBEBD0 UbBUy

(4) 79 HNS Ebewd LEDZE
Options :
92090634917. 1
92090634918. 2

92090634919. 3
92090634920. 4

Question Number : 31 Question Id : 9209068838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

‘I TEE' % AR OUET W T W A
'LERHT LHUEDD' 89 DLBE UAKSEEDA bD UZOBE bAE DHUZLAEH?
(1) ™. 7. FTEE 32 2 beuDoep

(2} ™. UH. . TRTEFE D20 2D & KbDEIeEnh

(2} T, W, TH ST DEw A 20 ODUDBE

{4) @, 9.2 =ET Dze oA 2 0R0ns



Options :

92090634921. 1
92090634922. 2
92090634923. 3
92090634924. 4

Question Number : 31 Question Id : 9209068838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘DERE0 EIIZ0° 2D Bbdd UAEDEIRA bd (2036 DIE EZnieEny

(1) ™. 7. 969 328 = bUmDeD

(2) ™. TH. ¥ TRTEFE D20 2D, B KDDEIEEDND
(3} ™. = TS WY 320, kA 20 ODUDDE

(4) @, e, SfET 3ze oA B 0s0Rs

Options :

92090634921. 1
92090634922. 2
92090634923. 3
92090634924. 4

Question Number : 31 Question Id : 9209068838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'0ZDBT LAUEDS’ 89 BodA UALDEDDA bD UZDBE LAE DBLZOHEN?

(1) ™., T, 9EE 28 2 b2UIosp

(2) ™. TA. ¥ TFUEFE D2 ZD. 3. KDRZIEKDND
(3} ™. =, U GTYTH 2ze. £A. 20 OPUDDE

(4) @, dtam SfET 3ze oA e 0s0Rs

Options :

92090634921. 1
92090634922. 2
92090634923. 3
92090634924. 4

Question Number : 32 Question Id : 9209068839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

™, f.a. WiEn s wewl U B u em aEE?
D2 OA. & ODOAE "3 bALER' ObOWA 0AE 2 DASAE DLEEH?

(1) 1924 T 1 weZc £BO D2
(2} 1912 9 T warz pap 22
(3} 1925 W T wese £@P B2

(4} 1932 WE 1 vess k@p p2

Options :

92090634925. 1
92090634926. 2
92090634927. 3
92090634928. 4

Question Number : 32 Question Id : 9209068839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

™, . WEn ‘g weew g B ou Sem e
DEW. OA. & ODOAS "WEE bALER' DbOWA 0AE 2 bOSHE HLHEHT

(1) 1924 919 1 2e2c KBO B2
(2} 1912 T T oonz e@mp B2
(3} 1925 T T Qe LBD D2

(4} 1932 TE T ueez pEp D2

Options :

92090634925. 1
92090634926. 2
92090634927. 3
92090634928. 4

Question Number : 32 Question Id : 9209068839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



™, LA WTEN CErE WA Udi e u Sem s
DG OA. 2 ODOAE "3 BALER' ObOWA 07K Z DLAAE BLADH?

(1) 1924 T 1 weZc £BT B2
(2} 1912 TE T ooRz p@p D2
(3) 1925 HE 1 vele Lap D2

(4) 1932 HE 1 vess k3P 32

Options :

92090634925. 1
92090634926. 2
92090634927. 3
92090634928. 4

Question Number : 33 Question Id : 9209068840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

* An Introduction to Santali language' 99t 3 AFE A\ AEET
*An Introduction to Santali language' Dbos7 22 26822 2P DLBEH?

(1) | €9 ¥ D2e A oA e
(2) T 3US TEFEE 326 A 2. ODUEDE
(3} ™. ¥ fEEE sz pe neapAny

(4) ™ UA.. THEIEE 220 ZP. & KODEOGERND

Options :

92090634929. 1
92090634930. 2
92090634931. 3
92090634932. 4

Question Number : 33 Question Id : 9209068840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



' An Introduction to Santali language' g4t 3 =@ A@ AR
*An Introduction to Santali language' ob087 22 200@2 2P DLEH?

(1) ™. i T zze A oA uze
(2) ™ LUS WFUHE 226 A 20. D}OEDZ
(3} ™. ¥ FEE sze 0z DeapADE

(4) W UAA. TETEE 220, 2P, B KDRZDEKDND

Options :

92090634929. 1
92090634930. 2
92090634931. 3
92090634932. 4

Question Number : 33 Question Id : 9209068840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' An Introduction to Santali language' g4t 3 =@ A@ AR
*An Introduction to Santali language' ob087 22 200@2 2P DLEH?

(1) ™. i T zze A oA uze
(2) ™ LUS WFUHE 226 A 20. D}OEDZ
(3} ™. ¥ FEE sze 0z DeapADE

(4) W UAA. TETEE 220, 2P, B KDRZDEKDND

Options :

92090634929. 1
92090634930. 2
92090634931. 3
92090634932. 4

Question Number : 34 Question Id : 9209068841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DabbhBHE €D BodE DEEPAGDEDE DILED abDbl bREDN?Y

(1) Ar=1 voE f@EE conen ODBLHE bAKLYD
(2) FSFEIET T pRosUA EZRGEDE UORD
(3) I7E1 HIS obeod pwnzE

(4) FEHATH WA bIUIODE LEREE

Options :

92090634933. 1
92090634934. 2
92090634935. 3
92090634936. 4

Question Number : 34 Question Id : 9209068841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DabhIHE €D DodE DEEPARDEDE DILED abDl bIEDT

(1) OrE 7o fREE vanen O2BUSS bAKLY
(2) AT TH pROSUA EARBAIE LR
(3) 9721 HIR aveon kssze

(4) FAETH HUA LIUIPRL LINZE

Options :

92090634933. 1
92090634934. 2
92090634935. 3
92090634936. 4

Question Number : 34 Question Id : 9209068841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OHbHERE €0 808@ DEEDAGIERGE (HWER bl LRER?

(1) | voE FER coned DRELEE bALLD
(2) FSFEIET T pRosUA EZRGEDE UORD
(3) I7E1 HIS obeod pwnzE

(4) FEHATH WA bIUIODE LEREE

Options :

92090634933. 1
92090634934. 2
92090634935. 3
92090634936. 4

Question Number : 35 Question Id : 9209068842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hi=AY A T B W s 9= wwa gt wifes frm sem s
SEARZEREENDS PRELZRHE LDECRD UZ2E hEa0&d I (EZE0H bEOED DAE bLSRE ADHER?

(1) 1975 W& 1 vese v@D B2
(2} 1982 TE 1 weEz vap 32
3) 1994 T T weec kLBD B2
(4) 1987 T T wemz vap B2

Options :

92090634937. 1
92090634938. 2
92090634939. 3
92090634940. 4

Question Number : 35 Question Id : 9209068842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4iSTY AR B T W AW 9= W gt wew e e amwen
SEARZESREER0S IBEDZERHE LEEOSR UZ2E hB30Ed &2 DEZE0dH hElED DA hASHE DoRER?

(1) 1975 W& 1 veEs LoD B2
(2} 1982 HE 1 webE KoP B2
(3) 1994 TH 1 veec koo 32

(4} 1987 TE 1 weEz eap 2



Options :

92090634937. 1
92090634938. 2
92090634939. 3
92090634940. 4

Question Number : 35 Question Id : 9209068842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4iSAY AEAE. B T W &AW 9= W gt few e s e
SEADZEEDIENO0S (HKLZRAE LEE0BD UZE bAOSH B OSZEDD LHOSDH 0AL DLSHE BONED?
(1) 1975 B 71 we2s vap 2

(2} 1982 HE 1 ueEz eBb 32

(3) 1994 TE 1 wees kDo 32

(@) 1987 WA 1 weez pap 32

Options :

92090634937. 1
92090634938. 2
92090634939. 3
92090634940. 4

Question Number : 36 Question Id : 9209068843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W EFEEE ¥ dWel W 4 SR qgE AW SR A
EE2® (Z0E(hPER €0 EREDDDG DHDER €D D03 ab0bl 02@ Obl PEER7

(1) ETE bezend

(2) FTETEA wopEEAGIE

(3) =@ YUET vee ubend

(4) HUEI-EEE weon-sevnad

Options :

92090634941. 1
92090634942. 2
92090634943. 3
92090634944. 4

Question Number : 36 Question Id : 9209068843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

W AFEE f wAE W W e e T R e
EER (ZokibPER 20 EREORPA DDEEA D Dod ablnl 026 a9 PEeh?

(1) ETEE bezouna

(2) ®TEA wepanABRE

(3) F=™@ TIST oEp ubeod

(4) HUEI-EEE weon-segna

Options :

92090634941. 1
92090634942. 2
92090634943. 3
92090634944. 4

Question Number : 36 Question Id : 9209068843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W fFoge 9 dae 9 W A WY 49 W e
LED UZLL(BPED 2D EREOBOA DRDLA €0 DoB Qv0bU 02@ GbU PZEN?

(1) ETE bezend

(2) ®=TNEA nepERAGEE

(3) =@ YUET vee ubend

(4) HUEI-EEE weon-sevnad

Options :

92090634941. 1
92090634942. 2
92090634943. 3
92090634944. 4

Question Number : 37 Question Id : 9209068844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



POEALEDEE LERSL DZEDE SALWE. DLD LOED 7

(1) ‘%' oz
(2) ‘T me
(3) ‘TR nemme
() ‘=’ paeRe
Options :
92090634945. 1
92090634946. 2

92090634947. 3
92090634948. 4

Question Number : 37 Question Id : 9209068844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P2EALERDE bERED R2AME DAELHA BbE bEED T
(1) ‘¥ oz

(2) "1 2=

(3) 'TmE neeme

(4) ‘=P’ pReae

Options :

92090634945. 1

92090634946. 2

92090634947. 3
92090634948. 4

Question Number : 37 Question Id : 9209068844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DeEALEDDE bIRED REZEHE DAELE. LI bRED Y

(1) ‘¥ oz
(2} 'T' =2
(3) ‘7o’ zeene

(4) ‘= pEuERE



Options :

92090634945. 1
92090634946. 2
92090634947. 3
92090634948. 4

Question Number : 38 Question Id : 9209068845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W E S T A A B

‘UD' 29 S0 SHOHD 02 HODBTIE LALH?

(1} A pona

(2} ¥ beenes

(3) AT ommy

(4) %29 AE benzw oBEh

Options :

92090634949. 1
92090634950. 2
92090634951. 3
92090634952. 4

Question Number : 38 Question Id : 9209068845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘WG S W A S w5
‘P 20 Dol SEAHE 02 HADDUDE LREHT
(1} =& pona
(2) ®I7El veense
(3) ATE oaRb
(4) #29 ATE bzhzb omEb
Options :
92090634949. 1
92090634950. 2

92090634951. 3
92090634952. 4

Question Number : 38 Question Id : 9209068845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

‘W W T A TETEE wT
U’ 2B Bhfl SEHLHE 0Z HODATDE LBEH?
(1} A pona

(2} FITE] beenes

(3} 9TE 0ans

(4) ¥T9 AE bzhzw ommh

Options :

92090634949. 1
92090634950. 2
92090634951. 3
92090634952. 4

Question Number : 39 Question Id : 9209068846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DAPAQ 22356 bona. LIDEE Dbd baEm?

(1) 93 weoo

(2} #T9TE opooe
(3} =T ezumm
(4} ST beEnD
Options :
92090634953. 1
92090634954. 2

92090634955. 3
92090634956. 4

Question Number : 39 Question Id : 9209068846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP 22A5HE HONa. ERDEE Dbl baEm?

(1) T vebb

(2) AMTE oBose
(3) TET ezomm
{4) =@ seans
Options :
92090634953. 1
92090634954. 2

92090634955. 3
92090634956. 4

Question Number : 39 Question Id : 9209068846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LADAC DZRBE HONE. LHOHS BbE bAEH?
(1) 99 oeop

(2} @I opoop

(2) =T ezama

4) =& veane

Options :

92090634953. 1
92090634954. 2

92090634955. 3
92090634956. 4

Question Number : 40 Question Id : 9209068847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAHE ERMDDE RERDE DYIAAE URES e Dol bRERT

(1) ¥ w=zaep
(2) =THEE oDeuson
(3} FHT bbimm

(4) ToafE=1 cAopALE



Options :

92090634957. 1
92090634958. 2
92090634959. 3
92090634960. 4

Question Number : 40 Question Id : 9209068847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dnmE EROEHe RERHE Dh3AAG UREZ EROET Dbl hAEnT

(1) ¥F oznezp
(2) SrEEET eswuson
(3) T ohund.
(4) TRATE=T GAORALD

Options :

92090634957. 1
92090634958. 2
92090634959. 3
92090634960. 4

Question Number : 40 Question Id : 9209068847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PAHE LHOBES D2BBE DLIAG UBEZ LBDHS DoB bBEH?
(1) o9 ozvep
(2) =TEEET oBLUBOB
(3) FH1 obind.

(4) FAFEF uAopALE

Options :

92090634957. 1
92090634958. 2
92090634959. 3
92090634960. 4

Question Number : 41 Question Id : 9209068848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

‘T T 9 s fEA TR aEn’ G wER T AE AT oI

-3-3

‘SHRD UBADEH OBM0Bd DADE UASNEZE EZ0d 020E° EDED bHEN DEZRIE (MEZ DEE UZI

(1) %] oobin

(2} TEF nEooE
(2] TE pouns
(4} =7 paeoz

Options :

92090634961. 1
92090634962. 2
92090634963. 3
92090634964. 4

Question Number : 41 Question Id : 9209068848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘=W BT 9 sEE fEEe e A’ e %ER TE o9E oA W

-3-3

'SHRY LEDE LHODU 23HE UASNGZE EZbD D20 EDEN bUEH DZRDE UDEZ PEE UZ|
(1) TF oobd.
(2} IEF nEooE
(2) THEF pounE
(4} =7 paeoz

Options :

92090634961. 1
92090634962. 2
92090634963. 3
92090634964. 4

Question Number : 41 Question Id : 9209068848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN OB 9 s feEA T A’ e fEm T uE owE W
SEDN LN OH0DI DANE UASNEEE EPud 020E° BIGD LhEh DERBE UNEZ DRE U2
(1) TF oova

(2} T nemwe

(3) TFFF pouBs

(4} = paeoz
Options :
92090634961. 1
92090634962. 2

92090634963. 3
92090634964. 4

Question Number : 42 Question Id : 9209068849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A AR AR RN W T W’ T A % R S e T
'OBED WD KA WSTSE b DIRHE LI0SY' T ODED D 0ZP PTLAOZE GIL ZEHT
(1) FM = F+H nwes e vaoz
(2) 977 T T A W] T oopon. D2RBE L282P 02 PD bB0E
(3) T2 TETE FE eB032 EDODE bRie
(4) T [ T bosL3I GoD bBOZ

Options :

92090634965. 1

92090634966. 2

92090634967. 3
92090634968. 4

Question Number : 42 Question Id : 9209068849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

‘A wE fER BN W wTR W’ T A S W SwdE e v
'0B@2 BB KAU WSNSE bD DERNG bDOSY DZ 0DRD 92 422 PZLADZA G2 ZEW?
(1) ¥m = FH neem aovd bBOZ

(2) I T WE A W] ¥ 0bown. D2eB6 K28zP 02 PP bloz

(3) =2 T T e803z LD0DE LB0Z

(4) THET T FTH obsba abd bBOZ



Options :

92090634965. 1
92090634966. 2
92090634967. 3
92090634968. 4

Question Number : 42 Question Id : 9209068849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'0BEE IR EAU UBISE LD DEENE bROSED' DZ ODED €9 AZ% PZoNOZE GEL ZEW?

(1) & = ¥ paes aod vaoz

(2) 991 ™® W A A T ovpon. D2eBe k2ezP 02 P bz
(3} TE TEME 1 £B03z EDODE bR0:

(4) TEE T FH bbELA GbD L2

Options :

92090634965. 1
92090634966. 2
92090634967. 3
92090634968. 4

Question Number : 43 Question Id : 9209068850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T WEE WIETR] TIE W’ T W WIS WM T 99 T IR AT AEEE?
[2BH PZRUE DEADLE DERNE LROED D2 D208 LIAH 029 SHRZ DL, DZLD TaLT DLAE DDV LILH?
(1) TME =T omIz ooz
(2} == T bews emmE
(3) TOME = wzeme smRe
(4} M = eaucape

Options :

92090634969. 1

92090634970. 2

92090634971. 3

92090634972. 4

Question Number : 43 Question Id : 9209068850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
0265 PZOLE bEANLS IZRNE bBH0SH D2 0235 bEAH 02O SHHZ OLHE. DZLD SHIND HLHE OBUZLAEH?
(1) =2 =N oDaz eoee
(2} 1 T peus eEmz
(3) TOME T QZLDE IR
(4} M T e emmz
Options :
92090634969. 1
92090634970. 2

92090634971. 3
92090634972. 4

Question Number : 43 Question Id : 9209068850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T AEEl WETHR] T W T T OW[ET W T O TH] 554 9E AEEE
0265 PZOLE bEANLS IZRNE bBH0SH D2 0235 bEAH 02O SHHZ OLHE. DZLD SHIND HLHE OBUZLAEH?
(1} T2 =0 omaz eope
(2} 1 T peus eEmz
(3) TOME T QZLDE IR
(4) M =T eaueanz
Options :
92090634969. 1
92090634970. 2

92090634971. 3
92090634972. 4

Question Number : 44 Question Id : 9209068851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘T A B AT TETE AW O 9ER B 9T TEE, THEE EE @M T A e I S
FEAl WH TEE ST

‘OoE LHER (P OhE 2R0EE 5D ERE OEHSED O OBE DEOEE UZELERE B0 LEREEZ DRONE-B' EEGH bhH0S:
0@ 283 b3WER LEDE RRORT BLBER?

(1) ¥E 2W 3EF W WY 06232 1D OBLE D2BHE LIOED

(2) B3 @1 AT T WS wEa 85 bLOBM D2RNE LR0SH

(2) =@ @1 FATEA FEEA T YT ote 29 ODEDLAC DSDE3BOZE DZRBE LIOSD
(4) TW =R FIE] TOE F1Y 0268 PZPUB LE3WLD D2EHE LAOSD

Options :

92090634973. 1
92090634974. 2
92090634975. 3
92090634976. 4

Question Number : 44 Question Id : 9209068851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘T O B AT AT AW O 9ER B AT TES, THEE EE 9E TS A Y #E S
FEAl @F T STEE7

‘ODE CEHED OF OhE 2R0DE 5D ERE OEHSED O OBE REORE UZELEDE B0 LEREEZ DRONE-B' EEGH bhH0SE
0@ 83 hlWER DEDE QRORT BLBER?

(1) 32 2 9799 WE WY 0e03z 85 0DDLE D2EDE LHOED

(2) B/ @1 AT T WS w2a 8 LLPnA DZRNE LB0SD

() FA@ AT FATES WETEA TOTE WY1 otP 29 ODEDOAC DSSE3BOZE DZRBE LBOSH
(4) TN FEE FESE] TE FY] 0262 DZPUS bE3NLS DZRAE bA0SD

Options :

92090634973. 1
92090634974. 2
92090634975. 3
92090634976. 4

Question Number : 44 Question Id : 9209068851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘T A B AT TETE AW O 9ER B 9T TEE, THEE EE @M T A e I S
FEAl WH TEE ST

‘OoE LHER (P OhE 2R0EE 5D ERE OEHSED O OBE DEOEE UZELERE B0 LEREEZ DRONE-B' EEGH bhH0S:
0@ 283 b3WER LEDE RRORT BLBER?

(1) ¥E 2W 3EF W WY 06232 1D OBLE D2BHE LIOED

(2) B3 @1 AT T WS wEa 85 bLOBM D2RNE LR0SH

(2) =@ @1 FATEA FEEA T YT ote 29 ODEDLAC DSDE3BOZE DZRBE LIOSD
(4) TW =R FIE] TOE F1Y 0268 PZPUB LE3WLD D2EHE LAOSD

Options :

92090634973. 1
92090634974. 2
92090634975. 3
92090634976. 4

Question Number : 45 Question Id : 9209068852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“arm FEE BTSN A UM W, TEWH W SR Y’ e s A BE wEE an
B SR
BT DZoBE B3EZ DI 2056 DARE 20ZHEHE 20 AZ2D20E IZ2BLE-8" EDER bADSEH 53 HALER DSDE
WRODE Doeny

(1) s o Fe 518 T WU uAendE PEPWD LODD WIE DIRDE bH0eD
(2) fErs ordl wSt T 9 uASn®E DA0A LH3IAA DIWHE LHOSD
(2) = dfEts TIoES AR WY1 pehuE LEEENE EDULE0 RERNG bR0EDH

(4) 9@ W TOu EUEE TOE W] 0280 5D AU UBISELE RIZENE hB0SH

Options :

92090634977. 1
92090634978. 2
92090634979. 3
92090634980. 4

Question Number : 45 Question Id : 9209068852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AN TR BT AW T WH, TEEN W SN YgmEen’ A w dE 'S %A @
BIAE SR
A0 PZLAE G2AE2 OB 20806 LERE 202HEHRE 2P A2D26HD T23B6E-B" EDER LBDESE B3 HEWER LOEE
LR0mE dolem?

(1) ToErE o9 ¥ 3 TOE W] JAehdE PEPUS bIDE (ODF DERDE a0
(2) fErs 9Tl wE T T uASn®E DA0A bH3AA DIBHE LHOSD
(2) = fEfs ToES TR WY1 pePuE DEUDNR EDULE0 RERDG LR0EDH

(4) 9@ W TOm EUEE TOE T 0380 5D AU UBDSELE DIRNE bH0SH

Options :

92090634977. 1
92090634978. 2
92090634979. 3
92090634980. 4

Question Number : 45 Question Id : 9209068852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“AYE FEE ST W UAE 9F, U I SARE Y’ A s S RS wEA @n
i gl
A0 PZLAE WEAGE DB 206 LERE 2OZHEHE €b AZDZLD DZ23BbE-B' EDER LBHDEH B3 AWER LEEE
LBR0oE doled?

(1) fToErE &0 FE 2 TO F] QAends pEpUs bIDE UDE DERRE bESE
(2) ToMers urdl ®E T WY UASNAZ DR bH2A D2ANE HAHOSD
(3) =rfe dfaEts TIoEE THER WY pEPLD DEGINE EDULE0 RERHG LROED

(4) 9 = OO ENEE TOE WY 09@D 59 kAU UIODELD TEEDE LH0SD

Options :

92090634977. 1
92090634978. 2
92090634979. 3
92090634980. 4

Question Number : 46 Question Id : 9209068853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B e e T ) R s 1 B e e ol e o B R 6
‘DEELDAGE E2220 Ob0SA" 5 BLER (ALBEDARNE 0oUED O9087 bREH?

(1} ™. 430 =0 3ze 0% 5 OG0AES

(2} ™. TE.F WH D2 20 DA BEP

(3} ™. U S D26 2 b2U0ID

(4) ™. UA.2N. THFIES 220 2P 3 LODEZOALDLO

Options :

92090634981. 1
92090634982. 2
92090634983. 3
92090634984. 4

Question Number : 46 Question Id : 9209068853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Trgien R oy o A foveia TeE g e
‘IPLELRARE EZD20 ObDEA’ 2D Bo8E UALBEDARNE ObUDP OHDEA DRERT

(1} @, d.a0 FfET 326 oA & OGTAES

(2) ™. TR.d FH nzw 20 NA. b3

(3) . U FEE 320 2 b20DED

(4) ™. TR THEFEET D20, 20. 8 LHDZOALDHO

Options :

92090634981. 1
92090634982. 2
92090634983. 3
92090634984. 4

Question Number : 46 Question Id : 9209068853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Srgfen R gd w AwE el TeE o s
‘DEOEORARD 2220 Obh0EA’ £ BOEG UALBEDADNE Dbihp OThOEA DRENT?

(1) @, di.=n =fET pee On & OSTAES
(2) ™. TF.d FE 22w 20 NA. bED
(3) ™. . FEE 320 2 b2UDEP

(4) ™. UA.2N. TRFIES D20, 2P. 3. LLDZOALDOO



Options :

92090634981. 1
92090634982. 2
92090634983. 3
92090634984. 4

Question Number : 47 Question Id : 9209068854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s fem T AwE Wew femd SwE oenen OEed T U R AT
DEENEIHIADD (AEDE DEE DDEO DLWAP UAEZEDRA PELIE ERETEPA EOREE BE2ANE 2 bidA Bobenr

(1) . UA.3. THEIEE D20, 2. 2 KeDEOeKDHD
(2} ™., U, FTEE 220, 2 bEubep
(3} =, d.@ FET sze oA . 00As

(4} T, TE. . FH 2@ 206 OA. HIP

Options :

92090634985. 1
92090634986. 2
92090634987. 3
92090634988. 4

Question Number : 47 Question Id : 9209068854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fmiem fvm W s wew fored AW Tl dtedd T U s e
OEENEITABS UALSE D2E 2050 DALAR UALSEIDA PELI0Z LABOAPA EIDUZS DIRNE 2 AU BLEen?
(1} ™. TA.20. TFFTET 220 2P 2 KLDZOSKDLd
(2} . U FTEE 220 2 bEUbeD
(2) 1§, di.= SFET poe oA R 0B0RE
(4) ™. TF. &, T 20 206 OA. bdP

Options :

92090634985. 1

92090634986. 2

92090634987. 3
92090634988. 4

Question Number : 47 Question Id : 9209068854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A fvm W AEE Wew foemd awE O Seed T U R ST
IZEDELADH (ALIE DZE 2086 DALDAPD JAEBEDRA P2ofDE KRECEPA EADUZE 2DE2AHE 2 bl Bbdem?

(1) ™. TA.30. THEEEE D20 2. 2 KoD2Oerssng
(2) T, U, ¥TEE D2u. 2 LIUDED
(3} @, d.a FET 326 0 5 0R0AS

(4} T, TE. . FH »2E 206 OA. bIP

Options :

92090634985. 1
92090634986. 2
92090634987. 3
92090634988. 4

Question Number : 48 Question Id : 9209068855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘DESUDENSHINE" 9P Dobd PEIPAGDIEDE OIUED ablbd bRED?

(1) =g ZZ eavmzesy hboo
(2) TN T HOEBABERE Do
(3) F75 FHT WAV 02EOZER LOUBD UBRBEOA

(4) TITE EEM 2bEDPER WIUDDEU

Options :

92090634989. 1
92090634990. 2
92090634991. 3
92090634992. 4

Question Number : 48 Question Id : 9209068855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘IEIETETE E AEE AFIEEET AR Y R
‘DESUDINNEHENE" @D Dodd DEIPAGIENE OIUED ablbd bRED?

(1) f=rg Z= eawazesy nbob
(2) TEAETM TE S0OEHRBESE DML
(3) TT FHT TAE] 02R0ZEE bHUBD URDBEDA

(4) TFTE BTN ELEsDED U2UOREU

Options :

92090634989. 1
92090634990. 2
92090634991. 3
92090634992. 4

Question Number : 48 Question Id : 9209068855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘DESUDENSHERE" @ DoDE PEIPAGDENE OIUEDR ablbi bBED?

(1) ®=r Z= eavmzesy nbio
(2) TEAEM TE SOOEHRBESE Nomb
(3) T FET TAE] 02R02EE bHUBD URDBEDA

(4) TETE BN EoELDED W2UORBU

Options :

92090634989. 1
92090634990. 2
92090634991. 3
92090634992. 4

Question Number : 49 Question Id : 9209068856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘T gEIEE! gETE 9 #AE W AR Aeen’ SN AAEE W OAFERT 9 A% w5
‘2EH HPRIARD | SHPH.3 2P Do O PEA BEAGH" EDGD PEDILE REE DERDAGRH 2D PLDE bOEDE?

1) Z™A T apuse £

(2) WM EF eacnase LSnER

(3) TN T MESULIRDE WEUIDS
(4) TSR I cenanmone noob

Options :

92090634993. 1
92090634994. 2
92090634995. 3
92090634996. 4

Question Number : 49 Question Id : 9209068856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Wi gEITEA! A W AFR A AR A N AR W oaFEhe 9 A wEe?
"26D PUPBEARD | HPBE TD oD 0D PRLE HEACDH' EEUD SEDIVE DZE DEDPARD ©B DLBE LHEDND?
1) Z™A T apuse £

(2) WM EF eacnase LSnER

(3) TN T MESULIRDE WEUIDS

(4) TSR I cenanmone noob

Options :

92090634993. 1
92090634994. 2
92090634995. 3
92090634996. 4

Question Number : 49 Question Id : 9209068856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘T gEIEE! gETE 9 #AE W AR Aeen’ SN AAEE W OAFERT 9 A% w5
‘2EH HPRIARD | SHPH.3 2P Do O PEA BEAGH" EDGD PEDILE REE DERDAGRH 2D PLDE bOEDE?

1) Z™A T apuse £
(2) WM W EOADEIE LIDEE
(3) TN T MESULIRDE WEUIDS

(4) TSR I cenanmone noob



Options :

92090634993. 1
92090634994. 2
92090634995. 3
92090634996. 4

Question Number : 50 Question Id : 9209068857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faers =1’ aFrEE 9 o W qfew SOE sy
IATHE 023N’ DEDAVZ 00083 Dof K2R IBUAD hOSHE BLDEDT

(1) 1967 T 1 2otz LB D2
(2) 1997 W 1 G6E LaP D2
(3} 1985 TE T e kob Dz

(4} 1987 TE 1 weEz emp 32

Options :

92090634997. 1
92090634998. 2
92090634999. 3
92090635000. 4

Question Number : 50 Question Id : 9209068857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fErE, =1 AFIEE §W TR T uifeE SRR AT
IATHE 0Z2H' 223U 09087 Dol K2R IB80AD hOSHE DLIEN?

(1) 1967 T 1 wacz kBp 2
(2} 1997 T 1 Y6z LBD D2
(3} 1985 T 1 weEe kaD DE

(4) 1987 HE 1 webe k@b B2

Options :

92090634997. 1
92090634998. 2
92090634999. 3
92090635000. 4



Question Number : 50 Question Id : 9209068857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fers, =1 sATEE qW s T Ofee Se ST
OASHE 023’ SEDAVE’ THOSA Dol LIZDUE THLAP DOSHE BOBEN?

(1) 1967 T 1 etz KB B2
(2) 1997 TE 1 weeE kP D2
(3} 1985 T T Qe k8D D2

(4} 1987 TH 1 weEz emp D2

Options :

92090634997. 1
92090634998. 2
92090634999. 3
92090635000. 4

Question Number : 51 Question Id : 9209068858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DEZREED ERHN BRALELA JEDD 20D EERR RE LENDDH KEPEDR DbLBED?

(1) 1987 % ¥ wezane
(2} 1981 % ¥ weme A me
(3) 1985 % ¥ woEs 7. D2

(4) 1986 % T weee A D2

Options :

92090635001. 1
92090635002. 2
92090635003. 3
92090635004. 4

Question Number : 51 Question Id : 9209068858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



bESREHD EESDE BRALELA DEDD LR EZDIE 22 AE&HDEH EPSER DbREDT

(1) 1987 4 7 wezan2
(2} 1981 % ¥ weme A me
(3) 1985 £ 7 woee A D2

{4} 1986 £ T weme= A, D2

Options :

92090635001. 1
92090635002. 2
92090635003. 3
92090635004. 4

Question Number : 51 Question Id : 9209068858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DESDERD EEB0E BRALEDA DEDD BOR EZDUE 22 A&HDEH EPSER AbREDT?

(1) 1987 € 7 weez 232
(2) 1981 & ¥ wemu A 32
(3) 1985 % 7 weee A D2

{4) 1986 £ T weme 3,22

Options :

92090635001. 1
92090635002. 2
92090635003. 3
92090635004. 4

Question Number : 52 Question Id : 9209068859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SWED IR OSNEE GHEIE DoB LIRAUD 22 40D0H LESER BLIER?

(1) 1971 T T ween A B2
{2} 1977 T I we2z A B2
(3) 1973 BTW 1 wezEA. Dz

(4} 1974 TTW T wezc A 32



Options :

92090635005. 1
92090635006. 2
92090635007. 3
92090635008. 4

Question Number : 52 Question Id : 9209068859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR 5D 0SREYR° EHEHE Dol LIROE D2 O0BOH KEEER SLAEnT

(1) 1971 BT T wasv A o2
(2) 1977 M 1 w2z 7 B2
(3) 1973 BT 1 wesm A B

(4} 1974 BTW ¥ wezc ARz

Options :

92090635005. 1
92090635006. 2
92090635007. 3
92090635008. 4

Question Number : 52 Question Id : 9209068859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ADLD 5D DSILH' GRENHE OB LU D2 SUBTH LILI BLBEH?
(1} 1971 BTM T wezv A 22
(2) 1977 TTM T weze 7 B2
(3} 1973 T 1 woezm A D2
(4) 1974 E 1 weEc A nE
Options :
92090635005. 1
92090635006. 2

92090635007. 3
92090635008. 4

Question Number : 53 Question Id : 9209068860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LA ER' OMEE W ST 8 A w e
'OhOLE EEBN" @RUUD DZE DEDDARE. 2P BhBE LAEHT

(1) om0 0esPBesos bakbh
(2) Wmr R paume bk
(2) A T omeaw uaadh

(4) =FHES T ooeenD UBUDE WANkeD

Options :

92090635009. 1
92090635010. 2
92090635011. 3
92090635012. 4

Question Number : 53 Question Id : 9209068860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- T VR T W S S A W
‘ObOLE GEEN @DUUD BEE DEDDAGR. 80 ELDE LIEHT

(1) “rEAmY 5 0sepBeBos bakhh
(2) T fFoE esum@ bAknd
(2) A T ooeae teaun

(4} I=OES 09 oSeend UBUSE LEESE

Options :

92090635009. 1
92090635010. 2
92090635011. 3
92090635012. 4

Question Number : 53 Question Id : 9209068860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘ObObE EEB0D’ eDUD REE DEEDARD. £D BLDE DREDT

(1) “rEArY 5 0sePRenos bakbh
(2) WM TR kaum@ bAKLY
(3) 7E T ooeaw uwaun

(4} I=OES 09 oSeend UBUSE LEESE

Options :

92090635009. 1
92090635010. 2
92090635011. 3
92090635012. 4

Question Number : 54 Question Id : 9209068861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘®9 WED' AR W SAEEE A wEE
'bBOZ LIIVD’ GHEBE D2E BLIPABH £ BLDD LACHE?

(1) FTETE O oHPARSU LIRZE
(2} TEFETT 9T mpLALID 0BEbLE
(3) ¥EE ONF pvema psnzE

(4) =FEEE T especme cman

Options :

92090635013. 1
92090635014. 2
92090635015. 3
92090635016. 4

Question Number : 54 Question Id : 9209068861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘W WED' AR | oaETEm 9 AwE w5
HOZ LI AN’ GDHRDE DIE DEIPARD €2 SLDE LHEHET

(1) FHETE O oHpARSU LIDZE
(2) TEFETT A OHPLALED OBEDE
(3) = =i poens kzmee

(4) =EEE TH especme cman



Options :

92090635013. 1
92090635014. 2
92090635015. 3
92090635016. 4

Question Number : 54 Question Id : 9209068861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY FEW' AR W SEeE 5 A s
'vBOZ bBAVD’ GDRBE DIE DEDPADD 2D BoDD LBEED?

(1) FTHTE T1F wapdasau kSsze
(2) AT A GEPLALID DHELE
(2) ¢ HFA poens ksoze

(4) =FEE T espzome cmaon

Options :

92090635013. 1
92090635014. 2
92090635015. 3
92090635016. 4

Question Number : 55 Question Id : 9209068862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fag e TR A AT T @M OER A
IAgh OBEDE CRENE PLD 2R BZ OOA0DH EDEER DLDED?

(1) 1948 HTH 7 wecE LZDUE DZ
(2) 1942 BTW 1 e EZRUD 32
(3) 1945 BIM T wece Eznum RE

(4) 1947 TTM T vecz kzmum 32

Options :

92090635017. 1
92090635018. 2
92090635019. 3
92090635020. 4

Question Number : 55 Question Id : 9209068862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tag =M TR e AT T 2TW WER A
IAgh DESRE GRENE BOB L2 B2 LEADH EDEER DLRED?

(1) 1948 TTM T <ece kznim B2
(2} 1942 TN 1 wecE EZRUD RE
(3) 1945 T 1 “ocE KZRUD D2

(4) 1947 BT T weez KZRUD 32

Options :

92090635017. 1
92090635018. 2
92090635019. 3
92090635020. 4

Question Number : 55 Question Id : 9209068862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fag e TR S T T TN mER AT
gk OEERE CRGNE Bob KIZRD BZ DBHMDLH KDEER DLIEDY

(1) 1948 TTH T <ok k2@ D2
(2) 1942 BTW 1 woecE EZnUD 32
(3} 1945 TN T vece EZDUD 32

(4} 19497 W T wecE kIRUm B2

Options :

92090635017. 1
92090635018. 2
92090635019. 3
92090635020. 4

Question Number : 56 Question Id : 9209068863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UARD B3RE' DED3AWE OH0SA Dofh K22H 22 A&BIH EPSER DLHEDT

(1) 1985 HTHT T weEE LZDUR DZ
(2) 1984 TTH 1 vobc EZRUE DT
(3) 1990 BTN ¥ woa0 EZDUD B2

(4) 1981 FTW T wesw kzmam 32

Options :

92090635021. 1
92090635022. 2
92090635023. 3
92090635024. 4

Question Number : 56 Question Id : 9209068863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘UARh BANG' SEDAUZ MH0SR BhI) KEDUN D2 OSHNDH KEEED HLAEH?

(1) 1985 TTM T wese vzoum D2
(2} 1984 TEW 1 weEc EZRUD D2
(3) 1990 T 1 woe0 KZRUD D2
(4) 1981 BTHT T vemn v2Rum B2
Options :

92090635021. 1
92090635022. 2

92090635023. 3
92090635024. 4

Question Number : 56 Question Id : 9209068863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘UARD D3NS’ PEDAUZ OH0SA BhI) KIIUN D2 0SH0D KESED DLDEN?

(1) 1985 HTH T vese v2aum D2
(2) 1984 TTW 1 vebc k2ZIE DT
(3} 1990 TN T a0 EZDUD 32

(4} 1981 T T weEw KIRUm B2



Options :

92090635021. 1
92090635022. 2
92090635023. 3
92090635024. 4

Question Number : 57 Question Id : 9209068864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 T s e O B e
CEMLRRD (RRbD BEATIEA DPEE 090534 2D Dofh bdED?

(1) TO=g =1EEE CASEe0sD DBELBE
(1) ®E® TN oDEDE UED
(3) ATTE ATETE 0SR50 OIEnp

(4} fofEdl wwavasd

Options :

92090635025. 1
92090635026. 2
92090635027. 3
92090635028. 4

Question Number : 57 Question Id : 9209068864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 T s e O B e
CEMLRRD (RRbD BEATIEA DPEE 090534 2D Dofh bdED?

(1) TO=g =1EEE CASEe0sD DBELBE
(1) ®E® TN oDEDE UED
(3) ATTE ATETE 0SR50 OIEnp

(4} fofEdl wwavasd

Options :

92090635025. 1
92090635026. 2
92090635027. 3
92090635028. 4

Question Number : 57 Question Id : 9209068864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

qEATA Y ATEArHT AT qE S A sy
CEdLRRD (RRdbe BEATAEA DPEE 090574 2D odh bdED?

(1) Fm=g =125 oAeEenss DHELIE
(2} FTE T ooese uED
(3) ATTH HTHTE OHDH0 OHEEP
(4} TofEd eARanzRA
Options :
92090635025. 1
92090635026. 2

92090635027. 3
92090635028. 4

Question Number : 58 Question Id : 9209068865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s AEEE gU S U 1 e OER @
(1) 1982 T T weEz w2 b2

2} 1983 T T uem pznum BE

(3) 1984 TTW T weEC KZDUBM B2

(4} 1985 BTN T weEs kEaam D2

Options :

92090635029. 1
92090635030. 2
92090635031. 3
92090635032. 4

Question Number : 58 Question Id : 9209068865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s AEEE gU S U 1 e OER @
(1) 1982 T T weEz w2 b2

2} 1983 T T uem pznum BE

(3) 1984 TTW T weEC KZDUBM B2

(4} 1985 BTN T weEs kEaam D2



Options :

92090635029. 1
92090635030. 2
92090635031. 3
92090635032. 4

Question Number : 58 Question Id : 9209068865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS AEEE gE S W 1 wre OER S
(1) 1982 HTW T  woes wepim B2

(2} 1983 BTN 1 weEm pZnum B2

(3} 1984 HTM 1  weEC E2Um 2

(4} 1985 HTHT I ool KIDOH DE

Options :

92090635029. 1
92090635030. 2
92090635031. 3
92090635032. 4

Question Number : 59 Question Id : 9209068866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femm wE AFgE gl S W BTV WER AT
(1) 1978 & 1  wer kzoum D2

(2} 1979 BTN 1  weee KEnAm B2

(3} 1981 BT T weEw kInUm 32

(4) 1982 TIW T weER LD B2

Options :

92090635033. 1
92090635034. 2
92090635035. 3
92090635036. 4

Question Number : 59 Question Id : 9209068866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

femm wE AFrSE gl S W BT WER TR
(1) 1978 & 1 wer pznum B2
(2} 1979 BTN 1 weee KEZRUD 32
(3} 1981 TTOT T sy pInOm BE

(4) 1982 TIW T  weER pIROm B2

Options :

92090635033. 1
92090635034. 2
92090635035. 3
92090635036. 4

Question Number : 59 Question Id : 9209068866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&mE #FE AFSE 9 S W BT WER AR
(1) 1978 T T  weze pZRUB D2

(2) 1979 FT 1 w26 kZDUB B2

(3) 1981 TTW T  weEY KZDUD B2

(4} 1982 BTN 1  weEE KZRD B2

Options :

92090635033. 1
92090635034. 2
92090635035. 3
92090635036. 4

Question Number : 60 Question Id : 9209068867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wrors faE SR U W oAEEREm 9 SAmE s
BEHI PARDOA PEDIVE ObOER bk KEDUD B2 4GAO0E EDEDD BLRERT

(1} 1985 ETWT 1 THOEIRBEDE W2ULRDU
I'ﬂ .I 1977 T-T?'I'IT 1: EEREGDE EBRIZE 'OEIEEDOE"
(3) 1976 ETH T 0BOSHED MDD 'BEADBLA’

(4) 1975 O] 1 eopen ODEEDE bAELD

Options :

92090635037. 1
92090635038. 2
92090635039. 3
92090635040. 4

Question Number : 60 Question Id : 9209068867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s fEdl SFEE g W s 9 awE s
BEHE PABDA 2EIaleE DLOEA 2o EZRUD B2 O6T0H EDEDD DohEnT

(1} 1985 T 1 SOOESDBEDE VUMD
[2 .I 1977 T-TI"'IT I EBTMEDE LEREE 'DEISELOEU"
(3} 1976 HTWT 1 0maopmd (bR DeATREA’

(1) 1975 T 1 ponen ODEEHE bAKbD

Options :

92090635037. 1
92090635038. 2
92090635039. 3
92090635040. 4

Question Number : 60 Question Id : 9209068867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ArErE A SAEEe qd W oAEEE 9 SmE w5y
BEHI PARDA 2EDAVE ODHOSA 2ob EZDUD BE 0530E EPEED DLHEDT

(1) 1985 HTOT 7 SHOCHDBEDE LEUIDBU
(2} 1977 TAM 1 coMABE LERSE '0EIZELOBL
(3) 1976 TTHT 1 QBOLPED WD 'BEADBLR’

(4} 1975 ETWT 1 vowen DOEHS bARLD



Options :

92090635037. 1
92090635038. 2
92090635039. 3
92090635040. 4

Question Number : 61 Question Id : 9209068868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIrglEe RERDE 0AEDE D202T UZEDE-I7

(1) 77 oanen
2} T memm
(3) YT Deesm

(4) @2 TEE usaz esnzw

Options :

92090635041. 1
92090635042. 2
92090635043. 3
92090635044. 4

Question Number : 61 Question Id : 9209068868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LINGUZE DZROE UAEDE 02029 UZENG-D7
(1) =@ omzen

(2) T ozmm

(3) 9 DoeRd

(4) WrE TS usaz esnzw

Options :

92090635041. 1
92090635042. 2
92090635043. 3
92090635044. 4



Question Number : 61 Question Id : 9209068868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EAgEe REENE 0AEDE 02028 UZEDE-T7

(1) =M oanes
(2) T ozem
(3) YA Doemm

(4) WrE TS usaz esnzw

Options :

92090635041. 1
92090635042. 2
92090635043. 3
92090635044. 4

Question Number : 62 Question Id : 9209068869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GHEIE 22EDE BEED 0RERE 02022 UZEDE-T7

(1) HTE ™9 upaz EEnew
(2) T¥ TEE ousbe esnzb
(3) T TEE zeDe eEnzy

(4) TE TEE AR@p eshew

Options :

92090635045. 1
92090635046. 2
92090635047. 3
92090635048. 4

Question Number : 62 Question Id : 9209068869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GHEDE D2ADHE BEDD 0AEDE 02022 UZEDE-I7?

(1} 92 Mg usaz esnzw
(2) T# TEE ovava ezned
(3} T TS zeme eBhzh

(4) TE TEE anop @9nE

Options :

92090635045. 1
92090635046. 2
92090635047. 3
92090635048. 4

Question Number : 62 Question Id : 9209068869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GHEADE D2ADHE BEED 0AEDE 02022 UZERE-T7?

(1} =2 Teg usaz e2nzw
(2) T= TS ovabe ean2w
(3) TEE TEE ZRme EEns

(4) 3TE TS ARme @Dhzw

Options :

92090635045. 1
92090635046. 2
92090635047. 3
92090635048. 4

Question Number : 63 Question Id : 9209068870 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 9209068871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 68 Question Id : 9209068875 Question Type : MCQ Option Shuffling : No Is
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Question Number : 69 Question Id : 9209068876 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
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BONLAE DODED KHSLLDNU OW'E (LDULD BPHE DH0SA bHEHI

A FE O DoEDd EARsU
B. T kH0H0

C.OsH AR AE Dud

p. =1 TET pAanm. @020

AN T W e feEeww w@E AW e e aeE 6
PROBD D2 20 BOHE UALIPT b bEY 02PH OBLSHY UZ-

(1) T4 A 37 B ZHZE A 8D B
(2) THRA B MW C ZHIE B AMD C
(3) UM Cc AT D 2H2E C BB D

(4) TH9 A #M C ZLZEA BWD C

Options :

92090635165. 1
92090635166. 2
92090635167. 3
92090635168. 4

Question Number : 92 Question Id : 9209068899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATETES WA Ty TOEE A e g s
BLBLAE DUDEY LBLSHDHU LWE USDULSD BPBE DH0S7A bAEHI

A HAm fmm paend earsd
B. MY /oo

C. W iE A v

D, @ MET pAang. 82020

AT T Un s Teweww W@ ASd GErTE e oA 6
PHOBR DE 2U HLHE OALEPT bd bED 0ZPEH OHOSHY UZ-

(1) TH9 A 3 B ZHZE A 8D B
(2) TFA B A0 C Zh2E B HD C
(3) T ©c 9 D 22 C B D

(4) TR A @ C 202EA WD C

Options :

92090635165. 1
92090635166. 2
92090635167 3
92090635168. 4

Question Number : 92 Question Id : 9209068899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ETES WA Ty THEE A e g e
ZLWLAE DUDEY LNSSHDNHU LWE USDUSD BPBIEG TH0SA bAEHI

A WAm frmm paesd eaked
B. T LH0HT

C. 3§ 4% Ae sud

D, @ WMET pAng. 82020

WA T Un s TeeewE] W@ ASd TEETE e A 6
PROBD DE 24U WLHE DALEPT bd bED 02PH DHOSHY UZ-

(1) TH9 4 37 B ZLZE A #D B
(2) A B MW C 2h2E B HD C
(2) U9 ©c 9T D 2028 C B D

(4) ™7 A 3 C 2v22A WD C

Options :

92090635165. 1
92090635166. 2
92090635167 3
92090635168. 4



Question Number : 93 Question Id : 9209068900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHELAE DOEGEEH DILED F3Y0 FZRDE UNEZ EIPHGE LDAAE-D|
A, TIHT GROSH

B. @Y &0

C. T ObEbU

D. AET  OMOZR

AT T UY A Tawewwl |E WEdl SR den aerd Wi
PROZD B2 20 HLBE IALSPD LY LAY 02PH DHLSHY -

(1) 799 A #MT B ZHZE A 8D B
(2) T8 B AW C Zb2E B BB C
(3) A Cc M D 2H2E C &% D

4) ™9 B AT D ZLZE B B® D

Options :

92090635169. 1
92090635170. 2
92090635171. 3
92090635172. 4

Question Number : 93 Question Id : 9209068900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHELAE DERGEEH bRLEN] FH3YD RZADE UNEZ EAPHE LDHIAAE-|
A TIHT GHOH

B. @MY &0

C. T QbEh

D, AET OH02R

AT T Ug o fawewl @E SEdl SerR o de A
PROED D2 20 NLMUE DALBPT bd bSD 02PH DHLSHY UZ-

(1) 77 A A B 2022 A 29 B
(2) TH9 B #AW C ZH2E B BD C
(3) T Cc M D /2 C B8R D
(4) T¥A B @M D 2028 B B D
Options :

92090635169. 1

92090635170. 2

92090635171. 3
92090635172. 4



Question Number : 93 Question Id : 9209068900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHELAE DOEGEEH DILED F3Y0 FZRDE UNEZ EIPHGE LDAAE-D|
A, TIHT GROSH

B. @Y &0

C. T ObEbU

D. AET  OMOZR

AT T UY A Tawewwl |E WEdl SR den aerd Wi
PROZD B2 20 HLBE IALSPD LY LAY 02PH DHLSHY -

(1) T3 4 T B 2L2E A =D B
(2) T8 B AW C Zb2E B BB C
(3) A Cc M D 2H2E C &% D

4) ™9 B AT D ZLZE B B® D

Options :

92090635169. 1
92090635170. 2
92090635171. 3
92090635172. 4

Question Number : 94 Question Id : 9209068901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wEt- 1 @ wHi- n o A
K907~ 1 8D K907 11 UAPHY U2

£ L ES0A- | o1 K98 1
A INEEY FEE E20SDEN0S D2LDN . T am OAD T
B. T I KRB OZLDY L AT AW 05D HoHD
C. W I3 @ DRALELSEERD NHdY . FAIE WET 99P53 ban.oaAR
D. WEEA HEm RESHUDED LZ2ERY Iv. ¥ ETEn bELLY SEDOND

TN 1w oA faeess] @R qEET W A A
PEOED B2 20U BLHE OALEPT bD bED 0ZPE DHOSHY UZ-

{1} A-IvV, B-IL C-11, D1
(2} A-IIL B-II, C-1L D-IV
(2} A-L B-IV, C-HL D-IT

(4} A-IL B-L C-IV, DI

Options :
92090635173. 1



92090635174. 2
92090635175. 3
92090635176. 4

Question Number : 94 Question Id : 9209068901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE- 1 A gE- n feemE g
K50A-1 2D KHOA 1 UAPBY U2

= E50A- | = on K90 1
A TNEEY FEE E20EDEN0S D2LDN . T oam OAD DM
B. TOH I KRB OZLDY L A AT 02RY A0HD
C. %W % [ DRALELLEERD NHdy . 5 WET 29053 ban.oaAd
D TEEE FET BIZEOUSEA 12LDY Iv. ¥E =N BB SIROUD

TN 1w g fawess] @R qEETE W A Ak
PROER B2 20U BLNE IALEPT bE bEY 0ZPY CHLSNY UZ-

(1} A-1v, B-IL C-11, D1
(2) A-NL B-IL C-1 D-IV
(2} A-LB-1V, C-IIL D-IT

(4) A-IL B-1, C-IV. D-11I

Options :

92090635173. 1
92090635174. 2
92090635175. 3
92090635176. 4

Question Number : 94 Question Id : 9209068901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TH- | ¥ WS- u e w
E507-1 8% k907 1 PBY U2

= | EB07A- 1 T on E507 11
A TSNS AT LDOSDEN0S D2LDY . fa am OAD WD
B. YA FE0 vesd 02Les L AN AN 02R8 208D
C. ¥ TT T bRALELSLERD NHDY m EEE WA e%Pna bamoad
D TEEE FEW BEROUSEA 1ZLDY Iv. FTE EER bHWY S2R0ND

AW 1 UN AT fawers] WA R A 9 A
PEOED B2 20 HLHE (ALBRD LD LED 0ZPH DHLSHY U2~
(1} A-1v, B-IL C-11, D-I

(2) A-nL B-IL C-1L DIV

(3} AL EB-IV,C-0LD-IT

(4) A-IL B-1, C-IV, D101

Options :

92090635173. 1
92090635174. 2
92090635175. 3
92090635176. 4

Question Number : 95 Question Id : 9209068902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mE- 1 @9 TE- o e A
EH0A- 1 8D K907 11 UAPDY U2

o 1 Eb0A- | = on K807 1
A ER T EETE WED D2 KNG 1. TEE IR SEDHMONE DHOD
B. MEFM TS HOSENS I WY THER g Eneebh RaULHE (hMD
C. SIEhE onUInEna nL EHA EE DIUDE LB
D. AW AEFAE SPBU BEbZODE Iv. TEEAE T UPEEDODEERD KIDZE

WET 1 un AT faEesE @R gEe Wen e R
PHOER D2 20 HOHE OALEPT bd bSD 0ZPH OBLSHY UZ-

(1} A-Iv, B-L C-II1, D-II
{2) A-L B-IIL, C-IL, DIV
(3} A-NLB-IL C-IV. D-I
(4) A-IL B-IV, C-1, D-INI
Options :
92090635177. 1

92090635178. 2
92090635179. 3



92090635180. 4

Question Number : 95 Question Id : 9209068902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 1 A gE- o feemm #
EbaA-1 8% EDLA 11 APET U2

ol 1 E907A- 1 =1 E503 11
A ER 1 BN WED B2 WZKNGE 1. TEE IR SEDHOIE DHDY
B. AT, TETE B0SEHE L WY THER g EBeeb REULHE (b
C. SHEhTE amunnEna m. EEE AR DRUDE LI
D. AW AEEAaE SPBU BEbZODE Iv. TEEAE TE UPEENOEEERD KIDZE

WAN 1 UR AT, fawers] WA R ae e -
PE0ED B2 240 HbHSE IALEPT LS b&E 02DE DRoeHY UZ-
(1) A-Iv,B-L 1, DI

{2} A-1, B-1IL, C-IL, D-IV

(3) A-IL B-IL C-IV. D-I

(4} A-IL B-IV, C-1, -1

Options :

92090635177. 1
92090635178. 2
92090635179. 3
92090635180. 4

Question Number : 95 Question Id : 9209068902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mE- 1 A mE- o faema A
EDSA- [ 8% EDSA 11 UAPDY U2

o= 1 ES0A- | T EDGA 1
A ER T T WED D2 WZKHE L TEE IE SEDHOIE DD
B, 2TEME SETE HSENE L WY THERE g E3esh RAULHE (BB
C. SMErE omunnEna m. EEE AR DRUBE KEY
D. MM SE%ars SR BEb20BGE Iv. WEETE HiE UPEPPOBETRD KERZE

WER 1w g fawerw @R gEeE dEl 9eE A
PHOED D2 20U NLAE UALSDT b bED 0ZPH DBLSNY (Z-

{1} A-rv, B-I, C-II1, D-II
{2} A-L B-IIL C-IL, D-TV
(3} A-NLB-IL C-IV. D-I

(4) A-IL B-IV, C-1, D-111

Options :

92090635177. 1
92090635178. 2
92090635179. 3
92090635180. 4

Question Number : 96 Question Id : 9209068903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T oofm T oy e
EnfA-1 &R EDLA 11 UAPDY 2

Tt ES07- 1 =N LT
A, TIOTEER] DEDHNLE L T 133520 3]
B, TEEE] EBNEbELE n fEeg BAEDY
C. TEEME OHELEE . AT kL2
D, afateEr HEAVARE v, HEA KEREE

AN I W awr feweww @R YA de 9 A
PEO&D DE 20 DbYE UALEPT LE b 0ZDEH DROoehE (2=
(1} A-IL B-1 CIV, D-I11

{2} A-nn B-IV, C-1, DI

(2) A-IV, B-I. C-IIL, D-1

(4} A-L B-IIL C-IT, D-TV

Options :

92090635181. 1
92090635182. 2
92090635183. 3



92090635184. 4

Question Number : 96 Question Id : 9209068903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T oowm T o e oh

£

EnoA-1 & ED0A 11 dAPEY U2

£ L E90A- 1 = on ED0A 11
A, TTYTEER] DETHNLE L T R
I | EBDELELE . feeg BAKDY
C. TEEMA THRLEE T = DHELZ
D. =t HEALARE v. HiE KRR

AT T U areE TaeeTw] WA YR A dGemE A
PROBD DE ZU NLHUE DALSPT bY bRD 0ZPH DHOSHY UZ-

(1} A-IL B-1, C-IV, D111
(2} AL B-IV, C-1, D1
(3} A-IV, B-II, C-II, D-1

(4} A-L B-IIL, C-1T, D-TV

Options :

92090635181. 1
92090635182. 2
92090635183. 3
92090635184. 4

Question Number : 96 Question Id : 9209068903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Mmoo oo e n
EbDA-1 8B ELLA 1 AADHS U2

oot 1 ES07- 1 =N LT
A, TIOTEER] SEIHLE LT (33500 3]
B. AT EZELZLE n. e bAkLY
C. UEEH OBELEE . Wk OEELZ
D. =t HEALARE v, HEA KEREZE

AN I U awn freeww @R qEEE de AmE A
PEOSD B2 20 ALHE DALIPD bY LAY 0ZPH DBLSHY UZ-
(1} A-IL B-1, C-IV, D-II1

(2} A-IL B-IV, C-1, D11

(2} A-IV, B-IL C-111, D-1

{4} A-L B-IIL C-IL, D-IV

Options :

92090635181. 1
92090635182. 2
92090635183. 3
92090635184. 4

Question Number : 97 Question Id : 9209068904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mE- 1 A1 TE- o faem W
EDE7A- 1 8% EDOA 1l UAPDY U2

T 1 ED8A- 1 TE 1 EbOA N
A, TUEA A0NSNE L A PH.EAT
B. TWEM  KBUORDRBE L £0E
C. T ERSALEDEE . =/ bEBE
D, e EBUDDESS v. & neze

AET I TN A AEeTE @F gEEE A 9eE A
PHOHD DE 20 HOHE PALEDT bd bED 0ZDH DHLGHY UZ-
(1} A-1v, B-II, C-III, D-1
(2} A-IL B-L C-IV, D-11
{3) A-L B-I1I, C-IL, DTV
(4) A-ILB-IV, C-1, D-IN

Options :

92090635185. 1

92090635186. 2
92090635187. 3



92090635188. 4

Question Number : 97 Question Id : 9209068904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gE- 1 97 TE- o faem W
EDOA- 1 8% ED0A [ GAPDY U2

T 1 ES8A- 1 T 1 EbOA 1
A TTIEH ANMTHE L EE PoLSAE
B. THEE  EBUDRDSDE L 3T 0@
C. T ERQALEREE nm. =@M baSE
D, T LBUDDESS v. 3 neze

AET 1 TN T AEeIE @R gEEE A 9 A
PEOER B2 20 DbBE ALEPT LY bED 02Ph DRoeDY UZ-
(1} A-IV, Bl C-11L, D-1

(2} A-nL, B-L C-IV, D-I

{3) A-L B-IIL C-IL, DTV

(4) A-IL B-IV.C-1. D-INI

Options :

92090635185. 1
92090635186. 2
92090635187. 3
92090635188. 4

Question Number : 97 Question Id : 9209068904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Odi- 1 @M gE- o foemE A
EHOA- 1 8D KH0A 1 UAPSY U2

o1 ES87A-1 TH 1 EbBOA N
A, TUER ADHSNE L E PH.GEAR
B. THEH  EBUDROSE L A 0@
C. #ETT SR8ALEDDE n. =M= BESE
D. T EBUDRERS v. & naee

AT 1 TN T AEeew @R gEE de 9eE A
PRBOTD B2 20 HLHE IALDPD LD bED 0ZPH OHOSHY UzZ-

(1} A-IV, B-II, C-ITE, D-1
(2} A-IIL B-L C-IV, D-11
{3) A-L B-IIL, C-IL, DIV

(4) A-I B-1V. C-1, D-INI

Options :

92090635185. 1
92090635186. 2
92090635187. 3
92090635188. 4

Question Number : 98 Question Id : 9209068905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gE-1 #m gE-n foemE A
ED87A- 1 8% EHOA 1l UAPDY U2

ot ED8A-1 =6 0 E987 1l
A, HEES AEITE] ESWDEIR UDBHEDA L AE o= o 53z EAG UDEE QATh
B. TUHElE EIOE RODOHE WBEen I WETH WEE AEE DOGSEA uB0In PRonD
C. TEITEW T OZLEHRHEHE (MBUb m. g wwEr 5 oA ORe GREOD UAE UMOA
D. FE TS baEy UIeA V. WE HETE OBLY LDUDHG

AT T UH wrEE TaeeTw] W[ YR A demE w2
PEOED 22 20 Db6YE UALEPT LB b2 0ZDE DIOLSLE U2:-
{1} A-IIL B-11, C-1, D-TV

{2} A-m, B-1L C-rv, D

(3} ATV, B-L C-1, DI

(4} A-L B-1V, C-IIL D-11

Options :

92090635189. 1
92090635190. 2
92090635191. 3



92090635192. 4

Question Number : 98 Question Id : 9209068905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gE-1 #m gE-n foemE A
K907~ 1 8D K907 11 UAPSY U2

ot ED0A- 1 =6 0 ED8A 1
A, HEES AEITE] ESWDEIR UDBHEDA L AE o= o (pdE EAG UDAZT QATDH
B. WUElE EFREl DUNOSe ONEeR I UETH WEE AEE DLONER UD0m DHORD
C. TEITEW T OZLEHRHEHE (MBUb m. g wwEr 5 oA ORe GREOD UAE UMOA
D. FIE TE bERYh UBEA Iv. T ORI WEE EBUDHE

AT T UH wrEE TaeeTw] W[ YR A demE w2
PRHOSD DE 20U NLHUE DALSPT bY bED 02PH DHOSHY UZ-
1 } A-IIL B-II, C-L, D-IV

{2} A-IL B-IL C-IV, D-1

(2]} A-IV, B-L C-IL D-111

(4} A-LB-IV, C-HL D-II

Options :

92090635189. 1
92090635190. 2
92090635191. 3
92090635192. 4

Question Number : 98 Question Id : 9209068905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TE-1 #m gE-n foemE
Eb07A- 1 8D K907 I UAPDY U2

el EH0A-1 =6 on EHO7 1l
A HEST AR ESWHEEY UDBDEDA . AE o= oA fm B3z EAG UDAT SAEH
B. ¥UElT EfHE DH00H WHLeD I ETH EEE AME DH0OSKA B0 PROBD
c. W T OZLENRAEBE (bRUd | A TWE] M W uAe GHIZ0® UAR UmOA
D. FE TE bEiRY UE1NA Iv. = HETY M EBUDNE

AN I T awn freeww @R YA de AmE A
PROSD D2 20U BLAE CALEPT b L&D 02D DBOLSHNY (-
{1} A-IIL B-11, C-1, D-TV

(2} A-I1, B-IIL C-IV, D1

(3} A-Iv, B-L C-IL D-INI

(4} A-L B-1V, C-IIL, D-11

Options :

92090635189. 1
92090635190. 2
92090635191. 3
92090635192. 4

Question Number : 99 Question Id : 9209068906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 1 WW gHE- n faemE B
K907~ 1 8D K907 11 UAPDIY U2

oo ES8A-1 T oo ebeAn
A HITETE 23ANE . o AP
B. T aanz 1L o LARDOALE
c. = BN m., BB,
D, 2ER0A Iv. HTHTYIE E2RUn09RA

WET I U an feeeTE @R qEET de A 4
PROSD D2 20U BWLAE CALEPT b L&D 0ZDH DHOLSHY (-

(1} AL B-IL C-L DIV
(2} A-IIL B-L, C-IV, D-1I
(3) A-IV, B-IL. C-IIL, D-1

(4} A-I B-1V, C-IL D-1NI

Options :

92090635193. 1
92090635194. 2
92090635195. 3



92090635196. 4

Question Number : 99 Question Id : 9209068906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TH- 1 @M gE- o fEE o3

3

EnoA-1 &% K03 11 JdAPhd U2

= ES8A- 1 TH o ebeAn
A STETR 2AnGE R CGE UAPTE
B. T Ganz IL AT LAROALE
c. TR B m. EE b,
D, | 250307 V. T K2RUN0YRA

-3

AN 1 T awr faweww @R EE A 9 4
PROED D2 20U BLAE CALEPT b LED 0ZDH OBOLSHNY (-

(1} A-IL B-NL C-1 DIV
(2} AL B-L C-IV, D-11
(3} A-IV, B-II, C-II, D-1

(4} A-L B-IV, C-II, D-111

Options :

92090635193. 1
92090635194. 2
92090635195. 3
92090635196. 4

Question Number : 99 Question Id : 9209068906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TE- 1 oW gE- o THemE 3

EBoA-1 &% EBLA 11 (dAPBd U2

oo K07~ 1 £2 R Y e
A TETR 2306 1. Toema) UADT
B, T Ganz IL TR UADOALS
c. = GBI m, I,
D =TT 2an50A Iv. TR E2RUmsRA

AT 1 U e freeww @R YA Te W A
PHOBD DE 2U HOHE DALBPT bd bED 0ZPH OHOSHY UZ-

(1} A-IL, B-NIL C-1, D-IV
(2} A-IL B-L C-IV, D-11
(3) A-IV, B-N, C-INl, D-1

(4} A-L B-IV, C-IL D-1II

Options :

92090635193. 1
92090635194. 2
92090635195. 3
92090635196. 4

Question Number : 100 Question Id : 9209068907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mE- 1 @R IgE- o ToemE |
K501 8D K907 [ UAPDY U2

=t | K90~ | Tt o EDOA 11
A EEfEm LaUEAU DABOA 1L TEEE g DEULEEERS ULDUY
B. WA TAA 0202% OUBP I WTEEE T (DGEPOZESND LERZE
c. | s AL D83 . ¥R T LDAKED DPEEDD

D. WEE A AE bOZDUnP mBA OWeR v, T THERE T peesh UL UbhUb
AT I TN awe fEewE R YA T Sen 4
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(1) A-IIL B-IV, C-1, D-I1
2} AL B-IL C-IL DAY
(3} A-IL B-1, C-IV, D-10T

(4) A-IV, B-IIL, C-11, D-1

Options :
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92090635199. 3
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Question Number : 100 Question Id : 9209068907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1} A-IL B-IV, C-1, DI
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(1} A-HL BV, C-1, D-II
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